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qifw faftn / MECHANICAL ENGINEERING
1 In V belt drives, belt touches
(A) At bottom (B) At sides only
(C) Both at bottom and side (D) Could touches any where
V- TBR HT gceT et owear & .

(A) @ad Hae was & B) FA D FH! g8 TAE A
(C) = g 7 o Tas W (D) dE W
2 Critical pressure for steam is
w9 & g wiftes g@ fda-m sam 8-
(A) 184 bar (B) 163 bar
(C) 252 bar (D) 221 bar
3 Change of entropy depends on
(A) Change in volume (B) Change in specific heat
(C) Transfer of heat (D) Change in mass

gueEl &1 ufRRads iR ovar &
(A) Taa & dRads W @) faflse o1 & gRads w
(C) S T WIFERY U D) TFHE » uRegda Ox

4 In order to balance the reciprocating masses
(A) Primary and secondary forces must be balanced
(B) Primary couple must be balanced
(C) Secondary couple must be balanced
(D) All of above
UREy GaHF @ Adferd e @ ¥
(A) YRIFS T AHvsH 9@ wgfera 8F w@f@g
(B) vrifda g# wdafera 91 @fdy
(C) <pvsd PH wHgfera B afag
(D) 374 I |

5 For specifying the state of wet vapour, one needs
(A) Pressure
(B) Temperature

r)y ITS3UIT, LTLUPCIALULE dllu LT 1ITUIC HUCHSIVE pruperly
g a9 B g faver & fag @ oo B &
(A) TH= -
(B) amu
(C) <€ Ug T
(D) TME, d9 9AT Ush I T84 fIRwar

wr L LAV UL LAl UUITLUL 1D LU DUPPIY LIS LOLUWILILE, .
(A) Only petrol (B) Air and petrol mixture
(C) Petrol and diesel mixture (D) Air and diesel mixture
PHEgeY BT FE 9 uygE dear &

A) fag g B) arg aor AgwEr BT ST
(©) U dar o w1 Mo (D) 9y aen Sl b1 Astor
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=k AT / MECHANICAL ENGINEERING

7 Governor sensitivity is the ratio of

(A) Range of speed to the minimum speed

(B) Maximum speed to minimum speed

(C) Mean speed range of speed

(D) Governor lift to the range of speed

TR B HagaeNear aqua ekt &

(A) 91 3 gRadT dAET aur a4 B1 wemEE

B) IM&HaH FT T gAAH AT

(C) AT &1 5egH™E aor 9 & gRads dsr

D) TR o fove a=ur 71 @ gRada Ger

8 For air standard Otto cycle
(A) Compression ratio is more than expansion ratio
(B) Expansion ratio is more than compression ratio
(C) Compression ratio is equal to expansion ratio
(D) Cannot be compared
qrg HHD ST G A
(A) WIrSH UK, VR U W 3 ST #
B) WHUSH IUW, AR IFUM W PHH B@r 2
(C) wISH Iy, UHR C‘-TTH?I W HHHE ElaT &
(D) g1 =8I 8rf

9 What is true for heat engines?
(A) Efficiency of all engines is same
(B) Efficiency of all reversible engines is same
(C) Efficiency of all reversible engines working between same temperature
limits is same
(D) Efficiency of all engines working between same temperature limits is
same

ST gl @ e w®m w82

(A) E O @Y e |HE 8 &

B) W uftadiy SSET & T=ar 9w Sk &

(C) \HH auaE 4Rl & =1 srifla ufaadia ==t a9 gerar aa=
st §

(D) FHFA TOHE HERl & = srRifia sET @ caar 99 e B B

10  The stress in disc type flywheel as compared to rim type flywheel is

(A) Equal (B) Less

(C) Greater (D) None of above is true

f$%r & avs gias @ § R & BN F Yeih ah @ gHEa widae
=T HH !

(A) @R BT 8 (B) HH BT &

(C) 3ifSrp Bar & D) FTTH F HE G9E "985 ¥
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ity $faftn / MECHANICAL ENGINEERING
11 Which of the following is not an internal combustion engine?

(A) 2 - Stroke petrol engine (B) <4 — Stroke petrol engine
(C) Steam engine (D) Diesel engine
fFeafefRaa 7 9 &9 @ siadss o= 98 & °

(A) 2—¥TF Ugl g14 (B) 4T UTIA ST
(C) 49 g9+ (D) 3 914

12 Objective of Supercharging process is. -

(A) Providing forced cooling air

(B) Supplying the intake of an engine with air at a density greater than the
density of the surrounding atmosphere

(C) Supplying compressed air to remove combustion product fully

(D) Injecting excess fuel for raising more load

fERROT UshAl BT Igaey B —

(A) vuifea s I Sucrer v

(B) &A1 o9 & 3@autdl &1 I8 99T UR ARy 1 SANOT BEET AT
ufRaell agHss & 9@ & e &

(C) T8 IURT &7 Q¥ avs e & g a@ifSa arg a1 wwor s

(D) IHp ¥R IS B AW (AP S99 &7 FaAYT BT

awr BL pIUpCILY Wi HHawclial Uy VILUE O WIIICH 1T can D€ beaten or rolled into
plates is called
(A) Malleability (B) Ducrtility
(C) Plasticity (D) Elasticity
ggel w7 a8 ol e 89 Yledy dvdT a9eY gaeh e} # ggen o
HHAl & |
(A) @ecTdr (B) a==dar
(C) wnfefadH (D) YcHTRRIAT

14 The process of removing the burnt gases from the combustion chamber of
the engine cvlinder using fresh charge is called
(A) Supercharging (B) Scavenging
(C) Knocking (D) Detonation
A TN BT AR R 39A @ Rifever & gEm wwr @ ool 52
BT 'S @1 UlshaT FHEATN 8-

(A) 3Ry (B) 3rgHTSH
(C) 3mOERcH (D) fspea

1S The fluid in the petrol engine (S.I) during compression contam
(A) Fuel only (B) Fuel or Air -
(C) Air only ' (D) Mixture of air and fuel
Ut 399 W 9dred % 4R avel 8 o997 BT & ?
(A) Hada T (B) T aem@ar 4y
(C) @Faa Iy (D) e e arg @1 fAsyor
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qansidh SU-HAR /7 MEUHANIUAL ENGINEERING
A beam of length |, having uniform load of W kg per unit length, is supported
freely at the end. The bending moment at mid spam will be
wh eRvT T SFg /R e OtE oy 9f Ukhie o OROW kg T
MR B, R RRT g7 @ T 8, P fag aX afRST Arte @1 9 8-

. i . Wi
(A) 1 (B) >
- wi’ i3 Wt
4 8
In diesel engine. the suction comains —
(A) Fuel only (B) Air only
(C) Air or Fuel {D) Mixture of air and Fuel
ot g9 H Fwast geor &war 8-
(A) @aa sEF (B) @ad arg
(C) darg 3qar ge+= (D) a1g a2 3ua &1 Asyor

The efficiency of Carnot engine depends on -
(A) Type of engine

(B) Working fluid

(C) Temperature of source and sink

(D) Type of fuel used

FHIc o1 @1 e iR @l 8-

(A) B & UHR U

(B) HHHERN uapt gz

(C) & s8R afWaa & agsen ov

(D) 9g&R A B YBFN UR

In a design of key. shafi. and pulley

(A) All these are designed for the same strength
(B) Key is made weaker

(C) Pulley is made weaker

(D) Shaft 1s made weaker

uge, ©of den gell & ifiwed @

(A) &7 @ |wHd wHE ) RN 8
(B) @o7 &1 \Fd &8 T wRh 81
(C) Yol &1 wmed &9 ) o 2
(D) Wi 4 GEefi vy WE T &)

-
In diesel engines. the duration between the time of injection and ignition. is
known as: _
(A) Burning period (B) Ignition period
(C) Delay period (D) Pre — ignition period
JISTA FHAT H, KT 1907 R Usae 990 & &9 ) 3@y PT a=T FET
Sem & ?

(A) TIoI9 i (B) USg9dd 1A
(C) faoma o< (D) Ya-ysacid &I
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i SiEitn / MECHANICAL ENGINEERING
Fusible plug for a steam boiler is an alloy consisting of bismuth, lead and
(A) Copper (B) Tin
(C) Zinc (D) Aluminium
WY P dgeR BT WIATG & Ub (Aseng &1 471 8rar & |, e f&erey,
W iR s A wr e gar 8§ 7
(A) drar B) fe=
(C) oiwT (D) VgfHfHaw

100 KW power is to be transmitted by each of two separate shaft A is
turning at 250 rpm and B at 300 rpm Which shaft must have greater dia?
(A) A (B) B

(C) Both have same dia (D) Unpredictable

,aﬁw—mﬂmeowaﬁﬂw&’ﬂaﬁwﬁ%W-Azso

rpm T Y B 300 rpm W gH &7 €| fhw wue &1 aw afte se—

£ AN A TN ™
(v) QI HHIM Y dr  Bidi (L) SHgHIA A8l < 1T ST Ededr

1 Ton of refrigeration is equivalent to —
1 e wdiiaq | d fhas aveR B
(A) 3.5 KW (B) 1 KW
(C) 2.5 KW (D) 5 KW

What salts of calcium and magnesium cause temporary hardness of boiler
feed water?

(A) Sulphites (B) Nitrates

(C) Bicarbonates (D) Chlorides

HfcerH iR TNProw & B9 F&0T D FRUT TIRER WROT I F IRens
HORAT BRI & 7

(A) wEHIZS (B) +Ege

(C) dsHEHS (D) TERSS

11 Ne Snedr [orce 1s Zero aiong a secrion mne penaing moment at tnat secton
will be = |

(A) Minimum (B) -Maximum

(C) Zero (D) Either maximum or minimum
afy el ®Ie W @edH g@ BT HE Y 8 df Sl sle U AHTEpl @
HHE B8R '

(A) gTad (B) sifSrmeH .

©) T (D) ffpad a1 =gAdaH .
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iEsh SN /7 MECHANICAL ENGINEERING
In impulse turbine, pressure on the two side of the moving blades —

(A) Decreases (B) Increases ;

(C) Remains same (D) May decrease or remain constant
RN exEsa H§ °gs Bolh! P QT yledl U gle—

(A) ®H B wIrar & B) €98 W & _
(C) aoad Yedr & D) H9 B Oy & a1 Rer wgar &

A bell Coleman cycle is
(A) Reversed Atkinson cycle (B) Reversed Joule cycle

(C) Reversed Sterling cycle (D) Reversed Carnot cycle
9 PIAHA G B

(A) gopH Veip—aa =F (B) YopH S TH

«©) gopa e awm D) YshA PRAC Gsb
Shear stress on mutually perpendicular planes are

(A) Zero - (B) Maximum

(C) Equal (D) Minimum

For maximum discharge, ratio of the pressure at the exit and at inlet of the
nozzle (P,/P,) is equal to —

sfpTa sy & fam, Sift & e oiR s (Py/P) ) @ @
T frad aREY & ? _

(A) [2/(n+1)]/atD B) [2/(n+1)]w-D/n

(©) [2/(n+1)]Va-D) (D) [2/(n+1))n+Dn

Curtis turbine is an example of —

(A) Pressure compounded impulse steam turbine

(B) Pressure — Velocity compounded impulse steam turbine
(C) Reaction steam turbine

(D) Velocity compounded impulse steam turbine

HfdH TAZT TP SIEROT B

(A) <Ta HASTG AT A9 eSXdiZd bl

(B) €7 WA 3MAT W9 exarga &l

(©) ufafssar A9 exaEa &1

D) AT HARAT AT "9 T@REA BT

A coil is cut into two halves, the stiffness of cut coils will be
(A) Double (B) Half
(C) Same (D) None of above

TF HUSAl B &) SRER qE H s R o # 1 € g8 e &) g
BT SRR |

(A) g (B) 3N

(C) wH ™ D) T § wE T
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A aeVICE UsE 10 INcrease ne i€mperdaiure O SpCaEmm WILIKHIL TAISINE IS PIeEssure

is called:-

(A) Fusible plug (B) Pre heater

(C) Economizer (D) Super heater

Y B TEM BT g A SHad aHE &1 de @ AT ganET @Y o
gt gfs &1 T Hel Sar 8 ?

(A) T T (B) gdamas

(©) T D) 3fy amas

Maximum efficiency for a single stage pure impulse blading (symmetric)
with nozzle angle ‘o’ is

T P ‘o’ T TUh G AYE 3T Bads (@fHa) & fog aife
ThaH  QElaT 28—

(A) cos o< (B) cos? o

==

(C) cos [E] ; (D) cos? [;]

A large cylindrical vessel was sealed in summer. What is likely to happen
to it in winter?

(A) Nothing (B) Explode

(C) Buckle & Collapse (D) Become lighter

Uh §ST SoFR 9 e sag 3 Wie fear war 81 g kg d S™

U UETT YSIT |

(A) @B 7@ ' B)

(C) Famsm (D) ®dT B QT
Which of the following is a high pressure boiler?

(A) Lancashire boiler (B) Cochran boiler
(C) Benson boiler (D) All of the above
fre1 % & ¥ 9=9 g™ W S § ?

(A) CiGRMEY ISR (B) A ¥R
(C) S99 IR (D) TURNERT TN

Expression for the specific entropy of wet steam is —

g Wi @ faflse ==Y & foq 93 &

L
(A) sg + Xs¢ (B) he+ x?
L N
(©C) s¢+ XSg D) s¢+ x?

EJE-2015 / U_D ] 28 { P.T.O.




qifw APt / MECHANICAL ENGINEERING
37  Weakest section of a diamond riveting is the section which passes through
(A) 1% row
(B) 21 row
(C) Central row
(D) One rivet hole of the end row

sve RfafeT # w1t oIk wie a8 € & o gowdr ¥
(A) wH dfaa 9

B) fEFha df w

(C) ®w o7 dfda &

D) s Rfde &1 ¥ o anflRed ufda & =

38 The specific speed (N,) of a centrifugal pump is given by-
Bl T B falme A (Ng) A e gRT 9ai W £ 2

NJO NAO
(A) /e (B) STEIES
Jo NAo
© 57 D 2

39 Impulse Turbine is generally fitted —
(A) About 2.5 meters below the trial race
(B) Slightly below the tail race
(C) Little above the tail race
(D) At the level of the tail race

3T SIGIgH, HEY: HEf oS oy & ?
(A) faasN | @ 25 der 99

B) fAEsi I ger =

(C) fawsii @ orer TR

(D) fREsN & wWw uR

40 Solid and liquid have
(A) One value of specific heat
(B) Two value of specific heat
(C) Three value of specific heat
(D) No value of specific heat
B AT wa yQrR] @ fafre <Ssw
(A) TH & =B & (B) <1 81 &
(C) &9 Brft & (D) =& 8xh &

EJE-2015 / 1I_D ] 29 [ PT.O.
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it FHuftaftn / MECHANICAL ENGINEERING
The degree of reaction of a Kaplan turbine is:-
(A) Equalto 1
(B) Equal to 180

(C) Greater than zero but less than %

(D) Greater than % but less than 1

BT TIAIRH B AMWEBAT B ==y E
(A) 1 & «I&EN
(B) 180 & SNMER

(C) Wﬁaﬁzﬁ%%@rm
(D) 1#@%%@&%@

Pick up the wrong statement about centrifugal pump
(A) Head is proportional to speed?

(B) Power is proportional to speed?

(C) Head is proportional to Diameter?

(D) Discharge is proportional to Diameter

IJUh<l G P IR H AT HAA BIH G 8 P

(A) e, o &1 | &
B) =i, wf? &1 FAFuRh &
(C) ¥e =2 BT FHEEORT 8
(D) fAwsHE, &N &1 GAFUR) &

Internal Energy is a function of only

(A) Pressure (B) Temperature (absolute)
(C) Volume (D) Pressure & Temperature
IR®E IS U Hawd 8 dad

(A) <& &1 (B) dmuHEME &1

(C) Iaaa &r (D) <rd a=AT d9HT BT

For a fluid at rest:-
(A) The shear stress is zero only on the horizontal plane
(B) The shear stress is zero

(C) The shear stress in maximum on a place inclined at 45° to the horizontal
(D) The shear stress depends upon the co-efficient of viscosity

Twa ReR #F 9 ar g & 7 ‘
(A) ITeT= ufted, oo &foe aa w g 8 #)
(B) II3av uftlad, 4= a1 &

(C) Igeger gfded, &ftw 9§ 45° & od R IIfSy@wan =97 &

(D) JITEGOT Wiel, ¥R Ui 9r iR gar &)

EJE-291S/0_D ) 30
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qitEicsh Ul / VIRUHANICAL ENGINEERING
In a static fluid:-
(A) Fluid pressure is zero
(B) Linear deformation is small
(C) Resistance to shear stress is small
(D) Only normal stresses can exist

W aver #H—

(A) TR = ¥y Brar g

(B) g f@s9ur H BT £ |

(C) 3gvyur giiasd &1 gfae &H 8idr &
D) wda wHFg yleda a9 ® \ea F|

1 m3 of air at pressure at 10 kg/cm? is allowed to expand freely to a volume
to 10 m3. The work done will be

1 m3 9y 5TH®T 9™ 10kg/cm?® 8| O BT Jod B9 O B f@am <far
B Ol9 9% DT AT 4¢ HR 10m3 8 Siren & Rpar sl 8nn—
(A) Zero /3 (B) + ve

(C) - ve (D) 10°Kg m

Gauge pressure is equal to

(A) Absolute pressure + atmospheric pressure
(B) Absolute pressure — atmospheric pressure
(C) Atmospheric pressure — absolute pressure
(D) None of these

ST S BT 88—

(A) Tomf @@ + aigHedE W @ awEw
B) IUrR] I — JYHSHT TE P @R_ER
(C) TigHseia T4 — T=ef g @ &xEx
(D) ST A P TE

In reaction turbine:-

(A) Total energy of fluid is converted to kinetic energy in the runner

(B) Kinetic energy is appreciable as the fluid leaves the runner and enters
the draft tube

(C) The vanes are partly filled

(D) It is exposed to the atmosphere

yfafsear cxa=sa #3-

(A) ™R A @A 1 9] SHol ae ot § oRafda &1 oy &

(B) W19 TRA ¥ & Isdl & R e oya ¥ udw oxar & a9 1w
ol BT BT |

(C) 39 3ifFrs $9 4 R B F}

(D) 98 FIgAvSA BT ISAfda Sra1 2

EJE-2015/ _D ] 31 [ P.T.O.
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According to Clausis statement

(A) Heat flows from hot substance to cold substance

(B) Heat flows from hot substance to cold substance unaided

(C) Heat flows from cold substance to hot substance with aid of external
work

(D) B & C above

FATHE & AR~

(A) ST 79 gaRi | ovs yar! & IR gsdl |

(B) A1 =1 amma & & mﬂ'{qami oos UYSR! @ IR g #

(C) AT e BRI @51 wsmar 9 gvs gerf 9 7 ggry & 3R
g8l &

(D) SWIRI B & C

Kinematic viscosity is equal to:

(A) Dynamic viscosity > density

(B) Dynamic viscosity / density

(C) Density / dynamic viscosity

(D) None of these

YIS AT BT 8

(A) 7P el » BFfka @ aRTER
(B) s wa=dar / UEAcd & €SxIEN
(C) =u=id / 7fde WAl & avfay
(D) =79 | P1E A8

The relation between the number of links (L) & number of pair (P) is:-
fefpr (L) &1 €T 3R g1 (P) &1 S & 9ra |re=] aar & ?
(A L=2P-3 (B) L=2P-2

(C) L=2P4 (D) L=3-2P

The temperature of interior surface of cylinder wall of I.C. Engine is normally
not allowed to exceed

ang. . gvF @ fufeost & anaflRe gag &1 auEE a1 P '\ s
3T A8 ggo fRum wiar &

(A) 80° C (B) 120°C

(C) 180° C : (D) 240° C

Inversion of a mechanism is —

(A) Changing of a higher pair to lower pair

(B) Turning it upside down

(C) Obtained by reversing the input & output motion
(D) \Ione of the above .

ol

(©) ﬁmmﬁﬁawﬁwwm&"m%m%i
(D) JWRET A PIE A8

EJE-201S /E_D ] 32 [ P.T.O.




ity St / MECHANICAL ENGINEERING
A simple mechanism has:

(A) 1 link @) 2 links
(C) 3 links (D) 4 links
T \/YA JFonaon H O Eh ¥

(A) 1 B B) 2 sl
(C) 3 fsat (D) 4 =HfsAt

55  Efficiency of IC engine is normally of the order of
IC §919 &1 Q&R SFTaT Bidl 88—
(A) 15-20 % B) 20-25 %
(C) 25-30% (D) 30-35 %

56 The purpose of flywheel in an IC engine is —
(A) To regulate the fuel supply '
(B) To increase the power capacity of the engine
{C) To reduce the vibration in the engine
(D) None of the above '
(A) do= off @1 fRAfFafa e :
®) o @ wfda avrn @ G
(C) o1 A HYs HH BT
(D) SUWRE 4§ BIE T8r

57 The maximum & minimum speeds of a flywheel during a cycle are N; & N,
rpm respectively. The coefficient of steadiness of the flywheel is —
RIS A B Qb e W Sierhe TR RpTaw iRl wer N, e
N, rpm 8| GggER, TRUCRE @3 &1 ReRar — ol o= sRT—

N, - N, N, + N,
@A 2(n -nN,) ®  2(n§ -nN,)
_ N '. N, + N

58 Cetane number of petrol is around
AT Y Wea wEar 8 &
(A) 10 (B) 20-15
©) 20-25 ; (D) 55-70

S9  Tension in the tight side of a belt drive is 100 N & that in the slack side is
60 N If the belt breadth is 10 cm & thickness 4 cmWhat is the maximum
stress induced in the belt?
Uk Uccl A & &Y grd # 999 100 N & 3R a8 rf¥a gred &
60 N #| afg uge @ =NerE 10cm & 3R HeE 4om 81 o e 9 ARk
MfwpeH uftes o 8rm —
(A) 2.5 N/cm? (B) 1.5 N/ecm?
(C) 4 N/cm? (D) 2 N/cm?

EJE-2015 / II_D } 33 [ P.T.O.
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it SRt / MECHANICAL ENGINEERING

For a flat open belt drive the belt speed is 880 m/min & the power transmitted
is 22.5 KW. What is the difference between the tight side & slack side
tensions of the belt drive?

frel |ue ¥er — wwﬁmﬁaﬁ%e%aﬁﬁﬁamﬁﬁ
225 8| Ucel A & B (E@)Wwﬁl%mmﬁw
IF=<® BRI

(A) 9000 N (B) 6450 N

(C) 1540 N (D) 1000 N

Governer is used in automobile to:

(A) Decrease the variation of speed

(B) Control 3N /5t

(C) Control §N

(D) All of the above

sifemETse 8 aeR @1 ganT AT Snar &
(A) = d gRade @1 B d B g
B) &N /5 1 Frifya e & &g

(C) sN &1 Frfya o & fag

D) SugaT i

Which one of the follomng is a gravity controlled type govemor‘?

(A) Hartnell governer (B) Hartung governer

(C) Watt governer ' (D) Pickering governer
ﬁm%@aﬁ%aﬁﬁ—wgwﬁnﬁﬂmwvmﬁ?%?

(A) TS AR @) srehr R o o
(C) die TaR ®) R ag s o B %

Increase in pressure

(A) Lowers the boiling point of a liquid

(B) Raise the boiling point of a liquid

(C) Reduces its volume .

(D) Does not effect the boiling point of a hqund REEe Tt
g g 9§

(A) &g B FEas R Sar &)

B) Td & FRA® ¢ Sl & oy i

(C) 3mEad we oI ¥
(D) TAMIEG TR B WA FEl ST

Hartnell governer could be classified under the 'ﬁmd of

(A) Inertia type governer (B) Pendulum type governer

(C) Dead weight type governer (D) None of ‘the .above: i
glé#armﬁqzﬁra?ﬁiﬁmfam?ﬁﬁa%:ﬂﬁﬂﬁ%mwmﬁ?
(A) Tis@ UHR & TTa] - (B) dlei UBR B TAEHR 0
(C) fregq WR UsR & O (D) SWEK § BE TE £

EJE-2016 / II_D ] : 34 _ LT DRI
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wifvw Sfaftn / MECHANICAL ENGINEERING
When the speed of governer increases then:
(A) Height of governer & radius of rotation increases
(B) Height of governer & radius of rotation decreases
(C) Height of governer decreases but radius of rotation increases
(D) Height of governer increases but radius of rotation decreases

iy i @1 vy sed & o _

(A) IAaFE=Ee @5 S iR goE @B BT ged

(B) fAfFEzE o Fad ik go= @ Sear gedy &

(C) efEzs @1 Sard gedt & g o= @ Sour gsd @
(D) #MAFEEE A T g & frg 2 @ BOrour 9wl 8

Which of the following boiler is water tube boiler?

(A) Locomotive boiler (B) Cochron boiler

(C) Cornish boiler (D) Bab cock & Wilcox boiler
1 8§ & o9 w1 digeR oie Al digeR BT & —

(A) dpEifea diaaw @) FdrERE diEer

(©) iAo daar (D) AIPTH vd erpis armer
Which of the following gear system have minimum axial thrust?
(A) Bevel gears (B) Helical gears

(C) Double helical gears (D) Spur gears

=1 4 Pa AR — 9o 3 sefg yoile =<Haw wsar & 7
(A <99 = B) Hpusfaa R

(©) faprsfoa fmw ®) ¥ fiaR

In a gear drive module is egual to:

\* Diametral pitch ) Circular pitch
. Circular pitch Diametral pitch
© = ®) =

TF Ffrar g # dicgda e svey 8ar & ?
1 1

= e ——— ® o e
T = =T ST
< - N7 (D) 7

Thermal efficiency of thermal power plant is of the order of
U d9 ufda waa H el gmar 8 & (@)
(A) 15% B) 20%

(C) 30% D) 45%
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70 Lewis equation in spur gear design is applied to:

(A) Gear y

(B) Stronger of pinion or gear

(C) Weaker of the pinion or gear

(D) Pinion
meﬁﬁﬁﬁqﬁmaﬂmmmg
(A) Frr

B) fFEs ar far #4 St o #5sigg 8
(©) fAffga a7 e #6, S W AR 8

(Dy ffFE=
71 Rivets are made of - _
(A) Brittle material _ (B) Ductile material
(C) Soft material (D) None of the above
Rae 39 e & €9 @ 9 &=
(A) WX U= _ (B) =0 ugel
(C) Yg u=sri . D) TWRET F q FHIE TS

72 Economizer in boiler
(A) Increases steam pressure
(B) Increases steam flow
(C) Decreases fuel consumption
(D) Decreases steam pressure
FOAT H FTHFAAEOR
(A) €@Kl &8 W9 @ aI§ &
(B) 9 & WS T g@™ @ foIg
(C) 89 A @I R fag
(D) w9 & TE Tem & fag

73  The shear strength, tensile strength & compressive strength of a rivet joint
are 100 N, 120 N & 150 N respectively. If strength of unriveted plate is 200
N, the eﬂiciency of rivet joint is:

100N, 120N <err 150N%1H§§waﬁﬁmﬁaea%®aa%weﬁ200N
& o Raye oirs & <erar feont 8Fft ?

(A) 60 % B) 75 %
(C) 80 % (D) 50 %

74  Normally cam moves with-
(A) Constant velocity (B) Vanable acceleratmn
(C) Vanable velocity (D) MNone of these
WEROTTAT A TgHAT B : :
(A) = afa @ : (B) uﬁaﬁﬁ’m TROT
(C) ufRad=-ig «ify & (D) THH A HE AR
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In the impulse turbine, the steam expands
(A) In the nozzle
(B) In the blades
(C) Partly in nozzle and partly in blades
(D) Neither in nozzle nor in blades
MRt exErss W Wi Bed &
(A) +ifora A
B) =s #
(C) e i H a2r IEN = #H
D) ¥ dfolad § 9 oIS #

The contact between cam & follower is to form a:

(A) Lower pair (B) Higher pair
(C) Sliding pair (D) Rolling pair
BH SR IHA B dra Hegw § oFar g9ar § 7
(A) Frear gome B) T=R FTA
(C) 4T e D) Yo FITA

The pitch point on a cam exists on-

(A) Any point on pitch curve

(B) Point on cam pitch curve at which pressure angle is minimum
(C) Point on cam pitch curve at which pressure angle is maximum
(D) Any point on pitch circle

HE e g g g@cm £

(A) fa g v HE N [¥g
(B) &v Og 9 9k g8 fAag 5@ o =Eaw 9 o7 Sdar &)
(C) =9 g gz ok g8 fag R X wan g For Sar 8
(D) o= g oR s W g

The function of condenser in thermal power plant is

(A) To act as reservoir to receive steam for turbine

(B) To condense steam into condensate to be reused again

(C) To create vacuum

(D) All the above

SeT Tiaa WA A wuitE R ewar &

(A) U @us &l g ot SIS @ |9 UhiNa Hrar &

(B) #Y P Huad B e a8 98 QERT SUIE H SE ST ED
(©C) fHala sa= = @& faw

D) T J O

Using lubricants on engine parts is an example of reducmg—

(A) Motion (B) Force

(C) Acceleration (D) Friction

g9 @ goil H§ 8P UGN BT A 1 &1 9 B BT Iaseuy 57
(A) ife @) =T

(C) <«RU (D) =iy
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In thrust bearing, the load acts
(A) Along the axis of rotation
(B) Parallel to the axis of rotation
(C) Perpendicular to the axis of rotation
(D) In any direction
g¥e faaffRT (thrust bearing) § AR &1 f&ur (direction of load) 8RTl &—
(A) YHE 38T & IaIH  (along)
(B) gHIG 30T & W|HARR (parallel)
(C) YA 38T & TFad  (perpendicular)
(D) = A faewm

Volumetric efficiency of air compressor is

(A) The ratio of stroke volume to clearance volume

(B) The ratio of air actually delivered to the amount of piston displacement

(C) Reciprocal of compression ratio

(D) Index of compressor performance

Iy wWirew @ Igafe gaar B §

(A) I T TAT IT<REHSGT DT G

(B) fafevss 3§ ugur &) 718 Iy &7 IRfa® Ia ol ddieH @ Wi
S I M T 5 1 S

(C) NS IJFUTT Bl GAshH

(D) e & TR BT FDid

The life of bearing is expressed in:-

(A) Lac of revolution (B) Billions of revolution
(C) Thousands of revolution (D) None of the above
faaf¥T @1 Saa (bearing life) . wsfRia fear sman €
(A) uRepar & oG (B) u9fRRspam & 3R A
(C) uRep1 & BOIR #H (D) SRR A PIg A6l

A particle acted upon by two forces is in equilibrium. Then, the angle between
the two forces is equal to:

Tt g O B #R W 9 9 anuaen ¥ | SF S & a9 B
PIOT BT HE BRI

(A) O©° (B) 45°

(C) 90° _ (D) 180°

Centrifugal compressor works on the principle of
(A) Conversion of pressure energy into KE

(B) Conversion of kinetic energy into pressure

(C) Centripetal action

(D) Generating pressure directly

M-I s HrRI wear = fpa g trv‘?
(A) <QE SOl & el ol § gRkafiia @wxar g1
B) st ol &7 g™ SGor 7 gfRaftia wsar 81
(C) s &

(D) @ g SO HIAl B
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The law of parallelogram of forces gives the resultant of —
(A) Parallel forces (B) Two coplanar concurrent forces
(C) Like parallel forces (D) Non Coplanar concurrent forces
W%Wﬁgﬁazﬁﬁ‘mﬂmuﬁvnﬁwzmmﬂmﬁ?m
ST 8—
(A) \|HHATR dai BT (B) <7 \HTSNT S 9l BT
(C) wHfew AR @ BT (D) SHaed Sl g &1

The acceleration of a body is expressed b'y:.—

favs &1 @vor weffa fear omar &

" fi_v_ - d?s
_ ) dr ®) dr?
_ a
© v (D) All of the above / STfaT T

The volumetric efficiency of compressor with increase in compressor ratio
will

(A) Increase (B) Decrease

(C) Remain same (D) None of above
wirsH J9Ud 9% 9§ Eie® & e gefarn ¢
(A) s § B) = &

(C©) HHE &N & D) 3T | g T8

The velocity of the object on earth when it is released from height ‘h’.
h SaE 4 gl ov fra g2 fils &1 a1 Sar &

(A) V=2gh?2 ®) V- gn
. A 53
© V= ben @®) ~2e

The direction of frictional force acting on a body which can slide on a fixed
surface is :

(A) In the direction of motion

(B) Normal to the direction of motion

(C) Unpredictable

(D) Opposite to the direcion of motion

T fis ov o a2 @ ol 9 & Renm @ar § Gl"rﬁer\"ﬁﬂgq?‘ﬂ&w
W HPBAT B ?

A) wIfa & faar #

@) T & fewr & =

(©) 3gHFE & SFTRT ST Sl

D) Ifa & fRemr ¥ fAuda
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Efficiency of gas turbine is increased by

(A) Reheating (B) Intercooling
(C) Adding a regenerator (D) All the above
AU SNEIZH @B Al Gl B—

(A) UAEIUE BRI (B) Eaeflas gwi
(©) Ao RexX 9™ 9 (D) T | w0

O UUUY 1> LIUVILE 1L a vilvuial pralll wWiLLL jalaras 1 LI IC14liVIl DELWECIL
its linear velocity ‘v’ & angular velocity '@’ -

v fQus fFM gaaer wel (S 'r) R g9 W1 &1 SS9 T a9
OO IO AT ' W TR BT & —

(A) v=rm? B) v=ownr

(C) v=r/ow (D) None of the above / SO A HIg 8]

The value of frictional force is:-

(A) More than external force (B) Equal to the external force
(C) Less than the external force (D) None of these

oo g@ T HE Bl 8 :

(A) 9= ¥ 9§ IS (B) 9= §d W SN

(C) 91E9 g1 § &H (D) T8 | P18 T8

Unit of thermal conductivity in SI unit is
FHEII Fioiehal Olies &1 SI HIESG . BRI 8—

(A) J/m3sec . (B) J/m°K sec _
(CY w/m°K (D) b & c above / SuUReT
1I[I€ ITICHIONdl 10TCC DETween ODJECIS nar ar€ stauonary 1s cauea:
(A) Rolling friction (B) Kinetic friction

(C) Dynamic friction (D) None of these

WEY Rl @ @a udor BT R T HaEr Ay & ?

(A) oo =ur (B) Tifest wdor

(C) bt @Efas) edor (D) SRR A B &l
The ratio of ultimate stress & workmg stress is called —

(A) Factor of safety 8) Modulus of elastlclty
(C) Poisson’s ratio (D) None . of the above

™ ufd@al (ultimate stress) T HIABR wfdEe (workmg stress) @
IFUTT BT FET B —

(A) &I UTieh  (factor of safety)

(B) WUmerir 7ulich (modulur of elasticity)

(C) 9YIsS= IO (poission’s ratio)

(D) SN H 9 ®E T8
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The vapour compression refrigerator employs the following cycle

(A) Rankine (B) Camot

€C) Reversed Camot (D) Brayton

oy S WS ueH e wsw g woram &7

(A) ¥>ps ysw (B) ERETE Y

(C) ffda dREe uma (D) §sSi=H ysHpn

Which of the following is a dimensionless quantity—

(A) Stress (B) Strain

(C) Pressure (D) Shear modulus
ﬁw%rﬁaaﬁﬁﬁw@wﬁm—v%aw%f

(A wfdEa B) Rgpfa

(C) =T (D) 39Sy Hgh
Hooke’s law holds good upto: \

“(A) Yield point : . (B) Limit of proportionality
(C) Breaking point (D) Elastic limit

§F @1 ffaw arg gar & — _

(A) uwmg fag a® - (B) wEHHWRYRTr @ e 96
(©) =g fag azs (D) uey WA o

The condenser and evaporator tubes in a Freon refrigeration plant are made
of '

(A) Steel ¢ (B) Copper

(C) Brass (D) Aluminium _

S &7

(A)  swE ' ‘®) dfa

(C) dYas | (D) 3IrgfAfas

The bending moment on a section is maximum where shearing force is —
(A) Minimum ' (B) Maximum

(C) Zero - (D) Changing sign

Mqﬁmwm-w.wwﬁmmmﬁw;mﬁmw
BT &

(A) =g (B) 3ferman

© == (D) 9Rgwl fors

A simply supported beam caries a uniformly distributed load of W kg f per
unit length over the whole span (1). The shear force at the centre is:

wi? ]

A — ®)
; wi

(C) =zero/ g D) =
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102 Unit of viscosity is
TYEAT IOl BT SI T BRI &
(A) m?/sec B) kg sec/m?
(C) N sec/m? (D) Ns2/m

103 Two simply supported beam A & B has the same length ‘L’ & subjected to

equal bending moment M. The stress induced in the beam A & B are o 4
& © g respectively. If the cross-section of beam A is b X b/2 & that of beam

B is b/2 X b, then correct relation between o 5, & o g is:

<7 YEOEd §08 ATl B UHEAT o8 L& & 3R S9ar doe aimegpf
M¥ U 9 €| TUS A T §9S B # TR o 4 9T o p UREa aRa
gl I5IER IX TUS A BT Iuwel uREBw b x b/2 3R B T b/2 x b &Y,
A o, T op B €IF BT HEl W JGT s8R ?

(A) O, = 20‘B B) o,= 453
Cgz '

104 A composite bar is made of steel & Aluminium strips each having 3 cmZarea
of cross — section. The composite bar is subjected to an axial load of 12000
N. If E e =3 X E,;. the stress in steel is —

(A) 10 N/mm?2 (B) 20 N/mm?

(C), 30 N/mm? (D) None of the above
ﬂgﬁmmﬁwaﬁmﬁwn@ﬁﬁwaﬁmﬁﬁ

g RTad U & IgUT B BT S 3UM2 8| dga die el v

9% 12000N HT e AR SATET Ol &1 3FR E  ,=3E,, 8 1 W«

H ufdesar sr—
(A) 10 N/mm? (B) 20 N/mm?
(C) 30 N/mm?2 - (D) Sudad | HIg A8
105 The frictional resistance of a pipe varies approximatély as
(A) Velocity of flow @) 2
© ®) V2 o '
¥ gz # 987 g €9 UX ST T Eeer uitREr @7 ' PR ewar
(A) ©9 @ wWaw IT W @) @m?2
©) @ (D) @me/2
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106 An adiabatic process in a thermodynamic system is one in which there is?
(A) Limited heat transfer to or from the system through the boundary.
(B) No heat transfer to or from the system through the boundary.
(C) No internal energy change. :
(D) No energy transfer to or from the system through the boundary

QTh SENIE dF B SIS UsbH H aar Brem 27

(A) 9RWHT gRT dF & Iar O O WIffa SSHT QETEROT

(B) 9RMHT gRT dF & AT 5 A AT BT HIE  WITAOROT &Y
(C) ©FH # oIE =R SwT ufRads =&

(D) YRAHT gRT dF & A1 O  SA! BT BIS  RFEEAROT TEY

107 The difference between the actual temperature of superheated steam and
saturation temperature corresponding to its pressure is known as
(A) Degree of saturation (B) Degree of superheat
(C) Dryness fraction (D) None of these
AfT g A9 P grfas AQUHM il SUD S| B ST HIW  JgHHE
P RN HEART B
(A) Hg<ar @1 S (B) Yuwdie &1 il
(C) I @) s J§ FE T8

108 The type of coupling used to join two shafts whose axes are neither in same
straight line nor parallel but intersect is

(A) Flexible coupling (B) Universal coupling
(C) Chain coupling (D) Oldham’s coupling -
HaferT, STHPT SWAPT I Wioe &1 Sires W fhar sar & Wy 5 A9 ar
(e Iwar § |, aﬁw@%maﬁm%ﬁa&qu\@a‘r
PHred 8F
(A) uvafraas wufer @) Iffada wufe
(©) 3T wufan (D) 3Ncged HufT
109 Which of the following is extensive property?
(A) Pressure (B) Temperature
(C) Volume (D) Density
= # fasga fAYesar - & & ?
(A) THE (B) 9™
(C) 3mIaA (D) ==

110 For specifying the state of superheated vapour, one needs:
(A) Pressure
(B) Temperature
(C) Pressure as well as temperature
(M) Specific volume
sfdga a9 & gof f@avor @ forg fewad sroxa =) & ?
(A) <19 (B) <9
(C) TmE 3R dm™ I FHET D) fafdse sraa=
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111 In a gear drive, module is equal to

(A) 1/diametral pitch (B) 1/circular pitch
(C) Circular pitch/x (D) Diametral pitch/
e wdom #, d@igge &1 "9 8lar 8

A 1/=aa faa B) 1/gMha o=
(C) Tg e/ x (D) =g e/ x

112 For which of the following substances, the internal energy and enthalpy are
the functions of temperature only?
(A) Any gas (B) Perfect gas
(C) Water (D) Saturated steam
fFrefofaa & & p7 uarll & &0 aRe oIl iR O $as amuHE
P BAd B 8 ?

(A) 18 T T8 B) ares I
(C) uiat D) HgH w9

113 According to kinetic theory of gases, the absolute zero temperature is attained
when-

(A) Volume of gas is zero

(B) Pressure of gas is zero

(C) Kinetic energy of molecules of gas is zero
(D) Mass of gas is zero

ﬁﬁ%ﬁmﬁ@ﬁzﬁmwwﬁw%r B, S
(A) T T I™a I B

B) 9 &1 TE T B
(C)Wfﬁﬂ'ﬂaﬁaﬁmw‘(@g‘r

(D) 9 &1 SGHAF A BT

114 For simple Harmonic Motion of a cam follower, a cosine curve represents

(A) Displacement diagram (B) Velocity diagram

(C) Acceleration diagram (D) Ali the above

| 3Mdad TRY BRI ¢ HH Bidaw d, »ifRm e uefRta wyar &
(A) fRemgs 3 &l (B) 9T & IMRE P

(C) TRUT 3IIRG BT (D) 399 | | &

115 First law of thermodynamics furnishes the relationship between
(A) Various thermodynamic processes
(B) Heat and Work
(C) Various properties of the system
(D) Heat, work and properties of the system

SHERITE BT usel  fFraq §== Iudasr Hdal B8—
A) fRf= owrfaes amAl & 9=

(B) w1 3R R & a9

(©) a3 & R PoeEl @& 9=

D) T, B IR GF D PUREHT B qE
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113 Charer = oulnlps of 2 spssess = egqual 10 heat transfer under following

117

118

119

120

121

cOondrTaoue
(A) Az consmas BrEEpenEiare (B) At constant pressure
(©) Az e p— (D) None of these

fr& Sz B BN A sRads = affRermr § g2 s eprsavyg
(A) R == B) R g™ v |
(C) e =m8— W (D) 398 | HIE T8I
Spring suffness is - .

(Ar Ramo of coil diameter to wire diameter

(B Loecad required to produce unit deflection

(Cs+ 1rs abilityv 1o absorb shock |

(D) Its capability of storing energy

TR YA BT gRAal s/ 8

(A) TTIA TN TR B T W U

(B) Ui fawengd & foQ aeysds 9O

(C) THE gaa @89 B FARgan

(D) oIt THa v @1 arren

The latent heat of vaporization of a fluid at 100K is 2560 KFkg What is

- the change of entropy associated with the evaporation?

100 Hfeds YR TH ®a @) amq=s @ FEN 2560 KI/Kg 81 arsgv § Grrg
Urdr gfRad=T @& & ?

(A) 6.86 KI/Kg-k B) 256 = 10% KIJ/Kg-k
(C) 25.6 Ki/Kg-k D) —25.6 K¥I/Kg-k
In an isothermal process, the internal energy

(A) Always decreases (B) Always increases
(C) Increases or decreases (D) Remains constant
HEATAT ushd #H, raflRkes FHotl—

(A) B9YT B oId 28 (B) 8% §¢ Wl 2
(C©) e Iar gedr 2 (D) saRadia s 2
A screw is specified by

(A) Major dia % pitch (B) Minor dia x pitch
(C) Major dia x length (D) Mean dia x pitch
Tp Ug @1 g ueffa & i €

(A) <8 a@ra x fog (B) oY g™ x fog
(C©) < I x or=Eis (D) #=g =N x fUy
Change in entropy for reversible adiabatic process is '
(A) Positive (B) Negative

(C) Zero : (D) Positive or zero
uftadfa @™ uspa & o v aRads &var 28—
(A)  g-TeaE (B) SHEUTTORE

(C) == (D) =T F T g
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122 Kelvin — Plank statement is applicable to

(A) Heat Pump (B) Refrigerator

(C) Heat Engine - " (D) None of these
feaT w@id T e & IR A 8

(A) ST T (B) WHIGIREX

(C) ™A1 g9 D) 3798 § HE T8

i L1IT 14LIV Ul 1AdlTlcal SLIAGiil LWV LT 1UICTAl SLEALIE VWELLLIIL SCEGADLIA FLIIIFL ED MAIIVYVIL OO
(A) Young’s modulus
(B) Bulk modulus
(C) Modulus of rigidity
(D) Poission ratio
gred i aen W R{aft & gue g Wien # dser 8
(A) T Argges
B) b HISySH
(C) HIsgerd gaar &1
(D) diEers Irgurd .
124 When wet steam undergoes adiabatic expansion then
{A) Its dryness fraction increases
(B) Its dryness fraction decreases
(C) Its dryness fraction increase or decrease
(D) Its dryness fraction remains constant
W9 3 g BT S gurR BRT & ar
(A) IsHAiy Sgdr 8
(B) YsHdlW Sl 8
(C) THHT YShAW HUc AAST §¢ Hhdl &
(D) SHPT Y<HAN FHE I&dT B

d .
125 Relation ds= -Tg’ holds good in case of :

(A) Reversible processes only

(B) Irreversible processes only _
(C) Does not depend on the reversibility or irreversibility
(D) All real processes

st=%’q,ﬁmﬁuﬁrﬁﬂﬁ@m%?

(A) &HIda TSFHUTT  UHH
(B) @S IIEHAUNA UehH | |
(C) SopHviiaer aT IFgohAaar o) iR =8 &
(D) w1 ar<Hfds ushH _
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